
CODE

402085

THREADED NOZZLE HOLDER D.3/8"F
NOZZLE HOLDERS SINGLE NOZZLE HOLDER
Threaded nozzle holder with diaphragm check valve and 3/8" BSP threaded cap

REFERENCE CODE DESCRIPTION REFERENCE CODE DESCRIPTION

01.01               402085.010     NOZ.HOLD THREADED BODY 3/8"F                                          01.03               005860.036     ANTI-DRIP DIAPHRAGM   EPDM                                            
01.02               402012.100     RED CHECK VALVE 0,5B BLACK PLUNGER                                    07                  20001003       FLY NUT 3/8"  RED                                                     

Powered by TCPDF (www.tcpdf.org)

Page 1 of 1

http://www.tcpdf.org

